@ n= )

100

80

S 60
7k
a

g 40

20

0

% HS 6CH2| O[5t &M MlE

1902.20 0303.91

% TR EHZ

=2 MIN MAX
MFN 10% 10%
of-OtM[oF | DS 0|Y¥s
SHHEL | 0% 0%
RCEP 0% 0%
CHs | 190220
. MIN MAX
MFN 40% 40%
St-OfAf|oF 0% 0%
st-H| ELt 0% 0%

RCEP 30.4% 32%

T& MIN MAX
MEN 10% 15%
st-OpA| ot 0% 0%
Sh-H|ELt 0% 0%
RCEP 0% 0%




104
od

© = )

SctAg

i e

= E¥E=s HFE EAEY EHZ

10
8
) 6
Zk
=
5 4
2
0

2710.19

HS 6t

X HS 6THe| O[Sh &M MiE2 ZME 3 &=

“hs o

=2 MIN MAX

MFN 3% 7%
gt-otA2t 0% 0|28
St-H| E 0% 0%

RCEP 0|5 0|2¥3




Matgz HAISL V= MAIH| 1=
| HS | 480591 |
= MIN MAX
MFN 5% 20%
3400 51-0fA| ot 0% 0%
Sh-H|E Lt 0% 0%
3200 RCEP 4.3% 20%
= | HS | 481149 |
o
i 800 =11 MIN MAX
: 600 MFN 15% 15%
= 400 5t-0pA|oF 0% 0%
Sh-H|ELt 0% 0%
200 RCEP 13% 13%
0 | HS | 310230 |
4805.91 4811.49 3102.30 =T MIN MAX
HS 6CHS] _ MFN 3% 3%
- 51-0pA|Qt 0% 0%
SH-H|ELt 0% 0%

% HS 62| O|ot M| MlE2 Mg & x RCEP 0% 0%




_ =glAE] _ = _ -
Bl ?,J = dar dEEF EZ=5 PR HAEY THE
127

“hs | 400811 |

2 MIN MAX
MFN 3% 3%
120 St-OfA| 2t 0% 0%
Sh-H|ELt 0% 0%
100 — RCEP 0% 0%
. 80 | | HS_ | 420500
o
- o | T2 MIN MAX
: m MFN 5% 20%
= 40 — St-0fA| 0% 0%
SHHIEE 0% 0%
20 — RCEP 0% 0%
0 | Hs | 411200 |
4112.00
4008.11 4205.00 4112.00 =T MIN MAX
MFN 10% 10%
HS 6Lt
sopdet 0% 0%
gl_ |EL.|- 0% 0%

% HS 62| O|ot M| MlE2 Mg & x RCEP 0% 0%




©)
IS
\_/

HAEY| EHZ

REPIE

“hs | eando |

T& MIN MAX
MFN 20% 20%
2400 2,388.3 sh-opqIot - 0% 0%
SHHEE 0% 0%
2350 RCEP 0% 0%
= | HS | 940429
o
150 e MIN MAX
= MFN 20% 25%
= 00 sh-odiot 0% 0%
Sh-H| ELt 0% 0%
50 RCEP 0% 20%
0 | HS | 610910
6109.10
6211.49 9404.29 6109.10 o MIN MAX
HS 6EEe) . MFN 20% 20%
St-OFA| ot 0% 0%
Sh-H|ELt 0% 0%

% HS 62| O|ot M| MlE2 Mg & x RCEP 0% 0%




@==) E&n=)

=EIAAb ZMEE gpetmey oS gom HAHI NS

2 MIN MAX

MFN 20% 20%

1400 sk-OfM[oF | 0% 0%

SHHIEH 0% 0%

1350 — RCEP 0% 0%

- “Hs 640290

o

> 200 - =T MIN MAX
=

= 150 — MFN 30% 30%

E 00 | m 3t-OfA| ot 0% 0%

5h-H|E Lt 0% 0%

50 — RCEP 0% 0%

0 | HS | 830249
8302.49

8212.20 6402.99 8302.49 =TT MIN MAX

HS 6EHS | ] MFN 20% 20%

Sk-OfA| 2t 5% 5%

SHHEL 0% 0%

% HS 6| 0|5t MM 22 ZME2xE =X RCEP 16% 20%

I_




O
e

@u=)

HAEY| EHZ

—

@==) E&n=)

Zapag

St304
stE

SR PTES

“Hs | 761290

I MIN MAX
MFN 15% 15%
1700 St-OfA| 2t 0% 0%
sHHIEE 0% 0%
1600 RCEP 0% 0%
= 7308.40
> 400 T2 MIN MAX
% 300 MFN 3% 3%
500 Sk-0FA| 2t 0% 0%
gl_ |EL.|- 0% 0%
100 RCEP 0% 0%
0
| Hs | 830242
7612.90 7308.40 8302.42 =T MIN MAX
cto MFN 20% 20%
ot 0% 0%
St-H|ELt 0% 0%

% HS 6| 0|5t MM 22 ZME2xE =X RCEP 16% 16%

I_




o= )

X7 | =

©
1o

@) @&n=s)

ZajAel
REPIE

| HS 846591

T= MIN MAX

MFN 3% 3%

2400 St-OfA|2F 0% 0%

._'5_ H-"EI_I- 0% 0%

2200 i - o
s | HS | 841410 |

; °o0 T= MIN MAX

% 600 MFN 10% 10%

400 gt-otAot 0% 0%

oH-HIEH 0% 0%

200 RCEP 0% 0%

0

8465.91 8414.10 8438.10 ?

- MFN 30% 30%

— SH-OfA| ot 0% 0%

eH-HI EH 0% 0%

% HS 62| O|ot M| MlE2 Mg & x RCEP 0% 0%




@==) E&n=)

Zapag

= MX

7

o= |- |
aTrT T — —

St304
Elicys

REPIE

“hs | saisi0 |

g MIN MAX
MFN 3% 25%
250 51-0fA| ot 0% 40%
5t-H|E Lt 0% 5%
300 — RCEP 0% 25%
250
= | HS | 854430 |
o
= 200 =T MIN MAX
=
= 150 MFN 5% 20%
E 00 m st-OpA| ot 0% 5%
sHHEY 0% 5%
50 — RCEP 0% 20%
0 - | HS | 854460 |
8544.60
8418.10 8544.30 8544.60 T MIN MAX
MFN 5% 20%
HS 6CIS
stotdet | 0% | 0%
SH-H|ELt 0% 0%

% HS 6| 0|5t MM 22 ZME2xE =X RCEP 0% 20%




@==) @&n=)

SctAE]

e _'0'|
sisd

= E¥E=E HE 0 HREC

i e

600
500
400 | Hs | 300510

i 200 = 1=} MIN MAX
: MFN 8% 8%
= 200 sH-OtMlot 0% 0%
100 SH-HIEH 0% 0%
RCEP 0% 0%

0

3005.10

HS 6Ehe]

X HS 6EFP| O[5t ALM| MBS B E &=



